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60 minutes in an hour. 24 hours in a day.
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Even numbers

Odd numbers

Counting in 3s: 3, 6, 9, 12, 15, 18, 21, 24, 27, 30, 33, 36 Counting in 5s: 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 55, 60
Counting in 10s: 10, 20, 30, 40, 50, 60, 70, 80, 90, 100
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5 x 8 = 40
8 x 5 = 40
40 ÷ 5 = 8
40 ÷ 8 = 5
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£5 + £2 = £7
£10 - £1 = £9
50p + 10p = 60p
20p + 20p + 20p = 60p

Paying £10 for something worth £8 will get £2 change
£10 - £8 = £2
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Polygon (more than 3 straight sides):
pentagon (5), hexagon (6), octagon (8)
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This is a triangular based pyramid.
Square based pyramids have 8
edges, 5 vertices and 5 faces.

This is a triangular prism. A cylinder
is also a prism which has 2 edges,
0 vertices and 3 faces (2 circular).

Rotation (clockwise):
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A quarter of 12 is 3
A third of 12 is 4

Half of 12 is 6


